
11Chapter 9  Test A

× 3 = 276

Section B (2 points each)

7 Circle products of 3.

25 30 20 8 918

8 Write × or ÷ in the .

16  4 = 4

 fish are in 6 cans.

9 There are 3 fish in each can. 
How many fish are in 6 cans?



24 Chapter 10  Test A

Caleb needs $            more to buy a sandwich.

Henry buys a sandwich and a muffin.
How much does he spend?

10

Henry spends $           .

11 Aaliyah pays for a muffin with a $5 bill.
How much change does she receive?

Aaliyah receives $           .

12 Caleb has $5.25
How much more money does he need to buy a sandwich?

Use the pictures to answer questions 10–12.

$1.80
$7.30

$6.75

burrito sandwich muffin



39

Section A (2 points each)

Chapter 11  Fractions

1

Score 25 min

30

1211

7

10 2

3

4
5

1

8

6

9

Circle the correct option: A, B, C, or D.

Name:

Date:

Chapter 11  Test B

Test B

1 Which shape has 17 of it shaded?

1
4 of a circle is larger than             of the same circle.

A B

C D

2

1
2

1
6

1
3 1

A B

C D



83Chapter 13  Test B

Which has a greater capacity, the pitcher or the bucket?6

Section B (2 points each)

7             bottles of water are needed to fill the bucket.

8 The pitcher can hold             more mugs of water than the bottle.

Use the picture to answer questions 6–8.

                           



94 Chapter 14  Test B

3 There are             more strawberries than oranges in the salad.

6 4

8 16

A B

C D

4             apples and bananas were used in the salad altogether.

21 28

14 2

A B

C D

5             types of fruit are used to make the salad.

6 7

4 5

A B

C D

Each  stands for 4 pieces of fruit.

Fruit Used

Apple StrawberryPeach Orange Banana

The picture graph shows the number of pieces of fruit used to make a fruit salad.
Use the graph to answer questions 3–5.



116 Year-End Assessment  Test A

12

13

A fish tank holds less water than a                     .

Which one is a polygon with 5 corners?

14 Which one has faces that are all polygons?

15 How many flat faces will the 10th shape in this pattern have?

teapot bath tub

cup water bottle

A

A

A

B

B

B

C

C

C

D

D

D

2 6

0 1

A B

C D

...

1st


